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CHEMISTRY
(Skill Enhancement Course)
Answer the Questions from any one Option.
OPTION-A
Paper : CHE-SE-4014
(Analytical Clinical Biochemistry)
OPTION-B
Paper : CHE-SE-4024
( Green Methods in Chemistry)
S IO e OPTION - C
Paper : CHE-SE-4034
(Pharmaceutical Chemistry)
OPTION-D
Paper : CHE-SE-4044
(Chemistry of Cosmetics and Perfumes
OPTION-E fmn‘\
Paper : CHE-SE-4054/3/ & ¢
(Pesticide Chemistry|):
OPTION - F :
Paper : CHE-SE-4064\
( Fuel Chemistry)
Full Marks : 50
Time : Two hours
The figures in the margin indicate
Jull marks for the questions. f‘
Answer either in English or in Assamese
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OPTION - A
Paper : CHE-SE-4014 \
(Analytical Clinical Biochemistry,)

1. Answer the following questions : e =d
O EPPTRY Teq fia
(@) Albumins are
GERIPFTZ 2
/_,(\ G‘?‘“E&E‘g > Water soluble simple proteins

& | ﬁrﬁ’r&ﬁ%'ﬂaﬁrﬁﬁa

//i;"/ﬁ;) ﬁa’c soluble simple proteins
%W 54 TEA e 2
(iti) Conjugate proteins
T o
(iv) Derived proteins

JeHAR oo

(b} Lactose is composed of o2

Ca%i@j—'__w—'——-—-@ﬁ%[

BO4FC 0131

(c) Numerical changes in chromosomes are
called.

TG Alfdfes AT (et 2 |
(d) Fats and carbohydrates both are

- composed of carbon, hydrogen and

oxygen. But fats are poorer in the

element_ .
R And SF IR0 G ﬁt@ﬁ I,
e wiT SREE A\ e T8 (57
el 39 oﬁtnci— 2 ATt 7T
H{Q‘er’}-‘! gy ”46\;;\‘
(i) Carbon i : 0:\
;"§j
S5
(i) Hydrogen c/’j
TG TS
(i) Oxygen
iE e
(iv)] None of the above
@oF oIS 2T
td.
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Answer the following questions in brief:
2x3=6

OO EPTRS bl Ted form
(@) What is called ‘rancidity of Lipids’?
Tafres @ HRT @ & @y

(b) Mention the basic dissimilarities in
structure between -DNA and RNA.

fO. . . 5T W=, g7, 9. 7 NET® A R

s ciw d(_)es pH affect on enzyme activity ?
Bat is called optimum PH range ?

?WPH_%W%?

3. Answer the following questions - (any two)

5x2=10

O PR O il - (Rt gy)

(a) What is piocatalysis? How is it
Important in green chemistry ? 2+3=15

Wwﬁ%?mwmmﬁw

(b) What are the Che

o
nucleic acids? g o) Components of

xplain, R

BO4FC 0131

el e TR SoAREERR [ 2 it
hall

(¢ What do you mean by Epimer? Is
fructose an epimer of glucose? Give
examples of three epimeric pairs of
glucose with their individual structure.

1+1+3=5

@? goem fof @R BPRIeT Baizd FrRes
TSI S199 CIC® WifS 4|

(d) What is the minimum and maximum
blood sugar level in normal human
body ? How can we calculate blood

sugar level ?

TS AT (729 TGS X e S

'i‘ )
i e s e f{;.;%;/_ WIS 0 \;ﬁx ,
AR P )

Answer any three of the follow1f\g-<}\.:-" &7
questions : ;@glg_:_%g /?/ /
woid TR fofab! esg e fual =
(a) What is DNA replication ? Explain.

DNA S 2 Tt |
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e
(b) What is meant by genetic code ? Explain

it. What are the i
propert i
o properties of genetic

NEAUEEA RS
& s @ITT? Y2l &
o .? 9 :

c 1 i i
(c) D_ISISUSS. In detail about classification
<94 Protein by giving suitable examples

i"@qeh class.
2 A

N,
5

."\' &L

f‘.‘":;"" . )
Xplain “The central dogma of
molecular genetics.”

Qﬁﬁﬁammw%?w

( } y
1k ")

2 ¢
kc:rrgal urine from pathological/
‘abn ine i
' ormal urine in case of Hepatitis-B
virus infection in liver ? o

TR T SR R o2 1 e e
@‘*ffgiﬁi-la SRR e RS Felfe o
2k, i‘aﬁs/mﬂﬂ\@ww?ﬁﬁﬁﬁﬁ AT ?

BO4FC 0131 6

() Write short notes on: (any two)
: 5x2=10

5 (oI foral + (Rt 1)

(i) Blood coagulation process in
human

A (2R (o6d <T@ SiewEs Al

(i) Mechanism of Lock and Key theory
of enzyme action

BT wal-fY e el

(iii) Structure of proteins Coii
: NG
efoe 510w N\

(iv) Liposomes

frtewEr

BO4FC 0131 7 Qi



OPTION-B
Paper : CHE-SE-4024
(Green Methods in Chemistry)

Answer the following questions : 1x4=4

R Teq T
< ,\“Loi e N

\g) @Ral causes “itai-itai” disease.
y (Fill in the blank)

TRERIOR” @ A e
(T 32 syt )
(b) Write the formula of phosgene gas.
TG (o T fopay |

-

(¢) Chloro Fluoro Carbon (

responsible for $REs] ars

— depletion.

, (Fill in the blank)
FIFT A (CFCs) R

(T 32 o )

(d) Which gas was
rele N
tragedy” ? ased in “‘Bhopal Gas

TR R Grefe’ © (1% e Tafaens

BO4FC 0131

Answer the following questions : 2x3=6
iR eppries Bed foral

(aq) Mention two merits of 1omc/L wﬁs&b;\

</ :
SR O zﬁraﬁw@mﬁﬁ/f f "%k

’:1

(b) What are renewable and no renewa’Ble

(c) What is bio-diesel ? Give one example.
A fetee 52 « B Tz |
Answer any two questions of the following'

5><2 10

ﬁﬁ%@—mm@ﬁwﬁmmgﬁrw@@
farar:

(@) What is met haemoglobinaemia ?

G5 RrcalRea 62

(b) Write about versatile bleaching agerit.

A &35 areres f[a o

BO4FC 0131 9 Contd.




(c) Describe the green synthesis of the
following compounds.

(JEN Baracetamal=—"t
AUCECe S

(d) Write a short note on sustainable
development.

R SR {9 @t G B

Answer any three qﬁestions :

W%W%ﬁﬁ?@@ﬁ'm

10x3=30

(@) What are organic and inorganic

bigments ? Mention their disadvantages

in comparison to rightfit pigment.

: 6+4=10
Z‘WWWWW%?WWW
LERICERIC RO R T 91

BO4FC 0131 10

(b) How to design a green—g§yr thesis ?
Explain. . SN

Tpoh Llida
AP sl

T TR 7
o |

(c) -What is atom econdt /o
the concept of atom eco y ? Discuss
green synthesis of ibuprofen in terms
of atom economy. 2+1+7=10
sy gl 2 Aguty frofer a-ei!
(RIS SoIRel] R 12e ? Sage (e (8
e TR A frowfer euase [ew
ST 4T |

(d) What are green solvents ? Explain water
as green solvent by taking four suitable
examples. 2+8=10
IO TR 6 2 BIfS0) Boige THIzaeR QTS
AR (IoE T Roieet HIE F4

(e) Discuss the use of antifoulant in the
field of environmentally safe water
transportation.

ARTT A GRS IR A
G ETod A0 e <1 |

BO4FC 0131 11 Contd.




(/) What are “Solvent less” reactions ?

| Mention j

BO4FC 0131

o Coll

12

NG

s-advantages. 2+8=10

OPTION-C
Paper : CHE-SE-4034
( Pharmaceutical Chemistry )

1. Answer any four questions from the
following : 1x4=4

Wﬁmmﬁmﬁwﬁz@mwﬁm%@w

(a) How many numbers of N atoms are
present in vitamin B2 ?

oI By © i FR4UE N o1l AMCT2.
(b) What are NSAIDs ? '
NSAID i & @i ?
(c) What is fermentation? -

e elfiFal (FPRGHIOH) & =me o

(d) What is meant by a lead compound in
medicinal chemistry ?

Sef i Res wa® @l (Fro @)
Ifercet & g@e
(e) Define Chemofherapeutic index.

@ eRifHE BNresR ke |

() Write the name of two enzymes involved
in the fermentation of glucose to citric
acid.

BO4FC 0131 13 Contd.




LTI [l oiTT WS a1 R aiferare

gmmm) TR (R 75 BT W
q |

() What is the heterocyclic rin

_ _ system
present in vitamin C ? O

(h) What are barbiturat é%/

\\ e})\ %‘EJ /

Answer the following any tHreeX /$7
thi :

""*—tfz_i—- 2%x3=6

(a) How man.y numbers of stereoisomers
are possible for chloramphenicol ?
Which isomer is responsible for

ant1b1otic behaviour ? Draw its
structure

F AT TS @35 KASSR P Sl el

CPICE! =35 B
S s NSRS S R |

(b) What ; ot A
. presenis the heterocyclic ring system

in vitamin B, ? Wri
of (& i 12 ? Write the name

S€ase that occurs-.d
! -due to the
deﬁc1ency of vitamin Bio.

BO4FC 0137
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fObifi B1o © 4l ERbidEs Red! & =2
fOBIRE Bo T STl e & (@19 29 A3 2

(c) Name the prodrug of dopamine ? Why
cannot dopamine be administered
directly ?

AR S 8y (2gle) [ =e weiE
1 UrorFeld ORe IR @I9IE?

(d) Défine agonist and antagonist drugs.
Give examples.

- @oPf o I RE 87 e @ e T
izl | 7 an Collgon

(¢) What are meant by hypnofi :
sedatives? !

RorToe O (pUitS T B 39 \E

and structure of an analgesic drug

 GAETEhIEE B 2 @bl G 83
IS I o1 RS |

3. Answer any two questions from the
following : - 5%2=10

oo ol e A9 Rt 7o19 Tl 4 |

(a) What is leprosy ? Which bacterial
species is responsible for leprosy ? Write
the name and structure of an
anti-leprosy drug and propose a
synthesis for it. 1+1+3=5

B04FC 0131 A 15 Contd.




AR & W2 @G @SR SR TS

TS T2 AT ? G5l @fS-a7iers) &g
Ol g 2diien Rt 9= | s

(b) What are sulfa drugs? Draw the

strut;ture of sulfacetamide. Under what
medical condition it is being used?

_:‘¢?\’9_§}St which it is active.
oo o N _ 1+1+1+2=5
;DTG e
/ {_meé;%;@ 2 3@t 2 SreriafBimizes s
o/ & I T T e difices q3mt e
DTS = el et = et 1
N TR A Tt 99 Resem
Wﬁﬁﬁﬁ@ HIEFY Qﬂ[

(c) Write the structure of ibuprofen. How
g(lirsli) ls?mpers of stereoisomers are
e or 1!auprofen and which isomer
i peutlca}ly active ? Mention two

antages of ibuprofen over aspirin.

1+2+2=5 .

SIA T 159 e fara RIS ERaTT
P! CBRerSIR R A e et
TR Bieeott Ko sy 2 IS BiRTerE
SIREIEE 757 ARt Fora

(d) aDr'?jw the structure of L-Glutamic
fc1 : -How. 1s it being synthesized b
ermentation process ? 1+4'315

BO4FC 0131 i

,W%te the name of two bacterial species |

Ge-2 IS GfbTs 510 FEF© SILHA T4l | 5T
15ifT Uftw o= dfeFiE @FEmE 2o 39
=g, I <4

() What is meant by vitamin C leaching ?
Name two dietary sources of vitamin

C. Write the name of two bacterial ‘

strains commonly used for synthesizing
L-ascorbic acid through fermentation.
2+1+2=5

Ronifm C fifse e s o2 FObifm C T 77
GiRdoIR Teor A ol | B el «e -
g afte WeIEd oafee I|me 75
@caRaE A &

T

L ; '.'T Coilean
() Write the structure activity ;gl@tzor@'r@\_.\_

(SAR) of penicillin analogugs/ Q_QP ,,_,f" ;
ARRRR TR T S-S
ERCRERIT

2y, Sl L

| : Ny 5 WS
4. Answer any three questions fror--the

following : 10x3=30
e Tl erRe oial ez fofblq Ted 1 ¢

(@ () What is the nitrogenous base
present.in the antiviral drug
acyclovir ? To which virus it dis
effective against ? Write the name
of a prodrug for acyclovir. 3

BO4FC 0131 157 Contd.
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kﬂﬁf@ﬁiﬁ?ﬁ Tl 9»iRg foge 491
ﬂ&g’c@ﬂmwwﬁwmﬁa@i@@

Rt T wier] 2 agisatoag o'glol G5
A o7l |

Wh'at is a cardiovascular agent ?
L. Write briefly ‘about the medica-l
vwosseigandition in which glyceryl
I \__f-gihitrate is used. Propose a

(%)

A

g

glyg ryl trinitrate, lapipLe
SR SREGS (GTerS) Wi f o

RREfoT Rata et o) favgraiser

1I:—lllow does pParacetamol decrease
¢ body temperatyre 7 2

CoIRIfRD 1Tz W@W@tﬁ?ﬁ@@wwv

nghthe industria] Preéparation of
€thanol by fermentation —

e WWWW%

(b)

()

BRI

(A) What is the starting material

and V\{hat percentage of sugar
does it contajn 7 2

BO4FC 0131 18

(B)

(S

7 -{I\ i P i
.,m]e‘t_hod for the synthesis of s

(D)

BIRAIES o 24 ey foray

(E)

(F)

BO4FC 0131

AEE AN [ OiE e A
*oigs *5q AF?

Name two microorganisms
that can carry out the

fermentation. 1

wo! SzgroReaifes 1% ol

What are the nutrient
" substances added ? 1

& & (AP o 1 = 2

Wﬁat is the optimum pH
range for the process? 1

% o[ AR SgEeN pH ARTR

e

What is the bptimum
temperature for this process .
7 1
3 <fFFmR A TSN T3]
EIok:

Why is addition of oxygen
necessary although the
process is anaerobic ? 1
AfFRIE] Q[T (@A LS
wfee s I 6 erarea 2

19 Contd.




(i) Write the name of four food
sources of vitamin B,. What is the

aliphatic side chain present in -

vitamin Bg ? 2+1=3
fSBIRA Boa bIRS! <imy Sevm ww il |
SO B, o 2= it vize 3w

ek
;‘?‘G tch\ylha; are benzodiazepines ? What
/{?C’/ Mo Sithe trade name of the drug
j&f = f Diazepam? In what medical

sl & / Ffondiy i i

[_%!\ & f__f;cr);g%‘lon this drug is being used ?
S Bgse a synthetic pathway for

1+1+2+4=8

R e @

Eﬁ“ﬂf\ﬁm ailziiﬁiiﬁmﬁs? & Cmﬁg
YO @R Gy mER o me
ORI 51 Kl orafe )

(ii) What are th i
! € e€ssential requirements

O & compound to be an antibjotic ?
2
aS1 5 @y e ESIGRIo
HRETORTE 5 fro '
What is me

ey iinth Ey retrosynthesis?

_ Ip to desi
:g;fﬁ)etlc loute  for g partligﬁla?'
g und ? Explain by considering
r'ug molecule. 1+4=5

(d) (i)

BO4FC 0131

20

i)
© 0

)
B0O4FC 0131

oy JFe & @ 9ot G
s elfFre ¥ R TR 0T 2
fRiceice Bt el el It 4

Write briefly about the development
of barbiturates. ; S

- qRRHEEER RemE [ oo B

Provide two examples of B-

~ lactam antibiotics with
oostructure. Why are these

compounds named such? 2+1=3
o 7B - (eTEr oo Turee
ol | @3 (TR el B G
G ek

" Draw the structure of cephalosporin

C. Name the two heterocyclic rings
present in its structure. Provide the
name and structure of the molecule
that is the. starting point of

semisynthetic cephalosporins.
] 1+1+1=3

ool C T oo {1t | 2N 9foTS
ol 7Bl CBRHIRES e N e
et s Seee 707
S A O S1a o
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(i) What are aminoglycoside anti-

biotics:? " Give. one example.

Mention two adverse effects of this
1+1+2=4 |

category of antibiotics.

(f) Let us cons;j
nsider the com i
] me
production of penicillin in a fed-ga?tlc?}}
reactor by fermentation.
ek o
I R AFAE @Fo-@5 Rmsy BISEG]
pil AffeTreie UES 9 77|

5 & {i) i/ WhH
:\ & ’f) I;'%)Ch are the fwo main speci

c d for ferm : pecies
EIN e ; entation?

(i)  Which between th
malnly and Why 5

CR “MBBR oy QR TR :
< Fe g

(i) What i,s the source of .carbon Pl

OIS IR Teoy R .
(iv) W i
) What is the source .of nitrogen ?
OIS 2G5 B e ;
BO4FC 0131 22

(v)

i)

What pH range should be
maintained ? 1

pH3 #f7™ & 29 =eaie

What chemical compounds are
used as precursors for production

“of penicillin V and penicillin G ?

: "‘(o'{if

(9 @

(@)

BO4FC 0131

Give their structures. - 2
cffhm v e ¢RbFE G a%e
24[eTIS (PICOT e s e = 2

< PEer sion Ao Bl

Which chromatographic technique
is used to monitor the production
of penicillin ? 1

AR oEe e SEREN TR
TR (G F OIS e IR
39 2?2

What is retrovirus ? Give example.
2

@WW%W?W“IW

Write the structure of
azidothymidine and mention to
which class of anti-HIV agents it

belongs. 2
TSR oo FREFew! Tl S
3 RO «fS-HIV (@TR 999,
T I

23 Contd.




(i) Starting from D-mannitol as the
easily available source for the
construction of the sugar
nucleus, describe how
azidothymidine can be
synthesized. : 6

ol X6 srmeeer Teot Roicd
SO o 7R R TR (et ege <
;'T“:‘:?/ "‘? , ‘:s\-_“-, qc{;” Wl

;E,'\ () (f What are sulphonamides?
- &\ / & /Nention two uses of it. Describe a
ethod of synthesis of it
considering aniline as starting
material. Give one adverse effect
of using sulphonamides. -

1+2+4+1=8

BT NNIESER [ w2 B9 7 e
S 79| GREFR [ ez
(T 2T T W QAR
TR 961 STEG G B

(i) What is co-trimoxazole ? 2

CO‘E@W {%ﬁ 163 e 2

BO4FC 0131 24

OPTION-D
Paper : CHE-SE-4044

( Chemistry of Cosmetics and Perfumes)

Answer any four questions from below :
1x4=4
wore fRAl R e BifaeIT Ot T 8
‘ .(i.). | Write the basic purpose of using face
powder.
(i) *Why is preservative necessary 1n
-~ shampoo ? |
e TR (@l 7 eRN FEe
(iii) Is hair spray related with hair loss?

R (R F1S piet FRA FIF g (e

.(iv) Name the essential oil used in cold and
cough remedy. _
o |

(v) State the statement True or False : -
BReo ol @@ T o e
Geraniol is a monoterpenoid.

| (oaifEer @Ry WOREE|

Contd.
BO4FC 0131 . 25



(vi) Why is 2-phenyl ethyl alcohol used in

perfumery.
2-fEizet 223 @ =
£ FTRRe 5 FpoifEiere <

(vit) Name the vitamin which is related with
good hair growth.

(iv)

()

Mention two main types of face powder.

7y A J4S 92 HATCHIes SeEd 4 |

Write two natural sources of
2-phenyl ethyl alcohol.

0 -zt 22l e 70 Ao oo B

N

/\5‘ (vi) Write two primary ingredients of
i( lipstick. ]
L:, e 7o) e o |
3. Answer any two questions .from the
following : 5x2=10
2. Answer any three questions from below : wore Tl SRS Rigren 7oi9 Teq ol ¢
o S 2x3=6 (a) Define cold cream and vanishing cream.
NP2 R e e W@ﬁﬁ? G o Why is cold cream used during winter
: & ferdt 5 y .
(i) Write two side effects of hair dye season and how does it work on human
IR ' in ? 1+2)=5
EEWWZ{EV A T Sz < | skin 2+(1+2)
(i) Write tw : : =5 form O (SR & 36 @i o1 78
Sl e stimentsiol & good o o MoleTs TR T W TS T
' - @ofa 3 R &l e
Qﬁﬁwmfm‘ﬁ@ﬂmﬂ@@qw, | _ .
(ii) Name one n : (b) - What are antiperspirants and what is
oiliahd mentgturgl Source of geraniol its main use? Write its one basic
RG] 10;; its one use. . ingredient. Write its two side effects.
T (7 B 2lipfoms Beom 1 Forat < GBI
BN R 9B Sz |
BO4FC 0131 BO4FC 0131 27 _ Contd.
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TR FE? G (J9F <6 Yo Sotime B
R 7o A S | |

(c) Write chemical composition of talcum

powder. Why and how does it help
human being ?

~

Jc‘c‘@aﬁm AT TR 3 a1 ' s

SN

;'-4. = ;‘.: i \ % N
\_;.‘ S (d) :___,.Ho ._;.:’,does lipstick work on human
: ; o skifp nti i
\\?@ /[ 3 ﬁ"f‘i’j Mention four genuine reasons,
Neizay ~How long-term use of lipstick may harm
human beings.

1+4=5
SRS vt i (e & w e Rt
A AR TR TR 6 Soiei 7 e
o W6 51T el B 7|

(e) What is muscone ? Mention its natural

source. Write its physical property. How

do human beings collect it from natural
source and use it ? ;

240 40=5

L i?‘a T oot Btz <o 1 2
R 21 eligfess Beorg ofa
(PCT IEEC S i< m 9 '

BO4FC 0131 28

() Which State of India has highest
sandalwood 0il? Mention four
important factors on which good
composition of sandalwood oil depends.

| 1+4=5

S Ted (IR AT SIDRSE @B PVRIR

=
LINED
g ;)

~$Cgme el T2 @IS IS (S AR,

o
.

iR R I S 4 |

any three questions from the
g ; ; 10x3=30

eI foese Atz folbiT ©6d T 8

Define essential oil. Mention the
basic technique of extracting
essential oil from nature. Mention
the special solvent which is used.
during extraction. IeE2r =4

SRR (55 I I ol | ephod #Ad1
SRR (s SRS
B R | (o7 SR AR S R
TiEH AN B 4
(i) Mention how human beings use
: the following essential oils for
their purpose :
(1) Civetone, and (2) Eucalyptus oil.
; 2+2=4
@R TR T g A
(1) BREFH, =% (2) TEEREA#PH (o |

Vi

BO4FC 0131 29 Contd.




(i) Write two basic- ways by which
human beings use essential oil.

entlon three methods by which
se oil can be extracted. Which
s 0 pe of rose is mostly used for oil
v~ extraction ? In what different ways
rose oil may be used ? Mention one
chemical compound generally used
alternative of rose oil. :
3+1+42+1=7
SURLACEE B IESCE I ol O/ S
STEY | (AR (NS @3 (oe
SR AR CAYS 2 (oMo (e & 15
SIS 4RI I AR 2 (oMot coorq 7w

;ﬁ@wmﬁmw@@ﬂ

(i) What the is the purpose of using

BO4rC 013,

slhavmg cream ? Mention two
ztrt;rnatwe compounds of shaving
m
1+2=3.
ﬁmlmﬁﬂazﬁwaﬁvwmf%? GIEN
Wfﬁﬂa EU?QW FfRa wia z/%ff ¢TI

30

(c) (1)

(W)

(ifi)

(@ ()

BO4FC 0131

Te J4e 1

Write four chemical compounds
present in good/best face powder.
4.
Fal ASHTS ITS BINIY
awwmﬁa'dﬁﬁaaﬁximﬁaaﬁﬂl
What is the best sources of
eugenol oil in nature ? What
method in adopted for its

‘extraction ? How men use it?

1+1+2=4

Q@@?ﬂﬁ%@_ﬂmﬁ@@ﬁiﬁ?ﬁl
AT SIEFEE @ [T o/ ~alo TR

@?WW @FEHE I FE2

Write the names of two good
thickeners used in a good ,
shampoo. 1+1=2
ofel (77 T9 JBIRCE TRO 7ol ole
e A

Why is wusing hair spray
necessary ? How is hair spray
related with health of hair ? Write
three differences between hair
spray and hair dye. 1+1+3=5

R TR TR el 5

Qﬁaw?ﬁ_ AR 2R RS
R (R (2 U (2R Tizq

fofas shefe el
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() Write about the therapeutic use

of different essential oils. )
RfSa S cooprpes Bt o

(o
QR 921 R

©) () What is najl enamel ? Write five

;oasm chemical compounds present
~.1n nail enamel. 1+5=6

thn two methods by which

ySis of essential oil is done.
1+1=2

¥ (9T 89l 1 757 Bty fo7al |

hWr'lte the. bgsic_: difference between
air removing cream and shaving

cream. 2
(R ffes o TR
=M% Bt | S
(i Write in short about the following :
‘ 59+5=10
7'1—\9 S Al [aes eome B forall ¢
()  Cosmetic safety |
W W)
(@) Purpose of yus;
o using fragrance
T TR AR e
BO4FC 0131 32

(g) Chemically what is a nail polish
remover ? Mention five basic cheml.cal
components present in nail polish

remover. Why do people use nail
polish ? Write two side effects of nail
polish using. 1+5+2+2=10
RO Y AAfED Reter [ 99 A
RrioRS 43 A5 o SRAS Seim Sl
<4t 1R e Al 6 9= (92 72 Al
g5t A S 9
(h) ‘What is suntan lotion? Place four

strong opinions regarding the use of

suntan compounds by- human beings.
2+(2x4)=10

RGH o7 R # SR T T B (TP
<R R BifRe et o fr |

BO4FC 0131
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OPTION - E
Paper : CHE-SE- 4054.
( Pestzcu:le Chemzstry )

Choose the correct one -
% OO AR Bevewr 2\
()  Which of the follow‘k

515 not
organochlorine pesticide ? h

ST (PIACDT Cer Rl F5e7ietes o
(A) Malathione R |
(B DD EACA

(C) Aldrin L ieny

(D) Endoéulphan ﬂ\‘ﬁ’@ﬁm

(@) The chemical used ; in ‘N

a
Eradication Programme tlonal Wiy

sl e e Gﬁm\a IS I
(A) B.H.C &
.9
(B) DDT %ng%
(C).2:4-D 2,4-f&

(D) Pyrethroid L EIGRRI

34

(iti)

(iv)

BO4FC 0131 5

Natural insecticide obtained from neem
leaves is ;

o Ao o1 i 4 gl S e

= \
(A) Azadrirachtin
GG ECE

(B Nicotine |

7 o
(C) Lawsone
GECH
(D) Ecdysone
GLaVEC]
Identify the weedicide -among the
followmg

oo frANERT e Rl SegereR e
4 2
(A) 2,4-D
2, 4-1%
(B) Parathion
ofAE
(C) Chloranil
e
(D) Sporein
S REET]

Contd.




v) Th L ] : :
12, bu?ld?rfgsguf:é?e ;lsed in foundation of ' (vii) Alachor is an
s preventing termite attack i o
ﬁ?@l [P SNF0T 191 T30 SR GiRIEEE I -(A) organophosphate pesticide
Co'e ST 31 FoARY T2 | TS S
(A) Gam RCAG ;
Cwﬁ?a%eiej‘ Colleg, | , (B) anilide pesticide
LD s : |
(B /\/\5" \"\ GffeTe o
2 b (C) organochlorine pesticide
© ToRg R FoTHP ,f’j‘“R
i (D) None of the atfg@si;e’ U-:~f—‘" o %
(D) oo <Ble 7 5| ¢
. (viii) Carbofuran is used ¢
(vi) Ratenone is a/an | i Rreal aeEe
- 0 : <
iﬂi,ﬁ R (A) an agricultural pesticide
(4) insect hormone A | ' Ry Pl Soame 21
Iz

; B) a fruit ripening agent
(B) natural Insecticide | 84/ 5 S
: | e ARl iR f2ieet

PP Fioamie

(C) a food preservative

(C) bioherbicide
T e 2] TS =N
(D) weedicide (D) a moisturizing agent
ST eI oo e f2i
B04
FC 0131 36 ROH 01,31 4 Gt




Give very short .
answers of
(any three) e

llowing :
T frAlii 43 oi¢ o
1o TGS 39 KO0 ©ed ot 2 (Rigamizey o )

() What do ;
i you mean b a »
- one example. y herbicides ? Give

P TR O e 2 B S o

i
(ii) Name two organochlorine pesticides

oyl 99 (R Rel FoMe (o e S |

at 1ar¢ rodenticides ? Give a
n
iple of commonly used rodenticide

NG C"_‘J—;.\’:‘\_S, - IR gﬁw
\\A‘DUEEJV ;gy ’a wcf ﬁj{]’“
[w) Can algaecide -b
et € COnsider
€ . ed
pesticide ? Which algaecide jg us:c? ta
(0]

control algal blooming :
MiNg in ponds
, lakes

CAIRTIRETPIRE 1R TGt ot o190 R e

CFIRRE iz
AT e e ﬁwﬁ Wg 1“?“‘“ TRl

(v) What is the full form of DDT» [y ..
class of pesticide it belongs-t IEDWhICh
O r

fEfefb smsjef :
ks @l?%?wq%' R T Soaer

BO4FC 0131 38

” W.@Tﬁﬁf?mﬁﬁmﬁ I IRZ© Gy

(vi) What is the mode of action of
rodenticides ? Answer briefly.

| o TR R TR P 2 D Tl

Explain briefly any two of the following :

5x2=10
el </ 7k MRS ER AT G CRUE

(a) Use of Gammaxene as a pesticide
Sy Fioar f=2pie TS
(b) Organophosphate pesticides

(c) Methods of pesticide residue analysis -

S SReE [ewe 2wte

(d) Synthesis of organophosphate pes icides ‘
i ovan Goj
AT FoAMF TEOT : @sﬂ% -

i
/

(e) Agricultural pesticides ' £

FrETS Fore

o TR Ted I 8 (Ree fofior)

Define pesticides. Discuss in detail

(@ _
different classes of pesticides by giving
example of each class and their mode
of action.

BO4FC 0131 39 t w1 Contd.




WH%@T%W@WW%

mﬁﬂﬁwwm@—@mﬁﬁwﬁ@mw
CTCS eI Sitense) 251 |

(b) What are organochlorine pesticides ?
- Give chemical structure of any two such
pesticides. Write the applications of
Some commonly used
pesticides. How can

affect human health ?

"R SRR e A Rz v
PR IR o197 e | 4

organochlorine
these pesticides

R

(3 ) il ;
(3 / I‘QQMWW N0 Ti2d FEE
= < I I 2

\E?.;_J < S !

\'\i(?-f(,:?:‘i‘;iw at do you mean by pesticide

residue ? Discuss
health. Describe
pesticide residue

its impact on human

various methods of
analysis,

(d) What is chlorani

of pesticide it belongs to? Write its
molecular structure. Discuss about its

synthesis, uses and harmful effects in
detail.

FAA 2 3 @l m%@%ﬂmwm"?

mmmm%m;mm,ww%

ﬁwmﬁmvﬁmﬁmmmn
BO4FC 0131
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1? In which category ‘

i s

pesticides. : s e
iiivs“ﬁ@ﬁwml FrerEe o
A R T A _ d
() Differentiate between natural an

i ith
. - Explaln W1
: esticides. :
Syntk;gsc \BIl)rite about their advantages
exaim ;

and disadvantages in detail.

; SeafEe FIoANT MEGF I
et S TR B e e

erRarTEs Rac Rgoe fera |
(g) Write short notes of the following :
gl s
any two) g =
(@Eﬁ 15335}2??1 'IW BRI Cﬁi@ i 09%}‘}
() = DDT BRE & AR

(i) Malathion mwm;ﬁ 4
(iti) Chloranil @W @ % " /
(iv) Alachor G \ %éﬁ Nag‘a‘:zve s
e carbamate pesticide d e
% Wh?:lpgigs Why are they use
exa .

: ic effects. How
: ut their toxic Tt 2
Dlscussa?gl)yze carbamate pesticides
can we

By Suizad fml | % T
PICD FoAPTRTR

‘BO4FC 0131




OPTION - F
Paper : CHE—SE—4064
(Fuel Chemistry)

Answer any four of the followmg questions :
S T

il (@ Wﬁ@t s ¢

he formula of producer gas ?
\ 5" O PR e g
\“_:3.'/,9\?_.__,
~b at is flash and fire point of
lubricant ?
IR Tl o TR Ry o
() What do you mean by Power alcoho] ?
AR =772 3fere @il
(d) Define octane number.
WS ALY 7 fova |
(e) " Gi

agents

GFBaR qrerse 557 Szl o

(f) Define calorific value of g fuel.

WW%WTWr

BO4FC 0131
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(g9 Define pitch.
foibga kel ol o
(h) Give two examples of gaseous

sior T g0 wread Tl

Answer any three of the following v
ns 7
questions :

Tﬁmﬁmf‘—ﬁ?rm@@ﬁm

ble
What are renewable and non-renewa
(a)

of.
ources ? Give one example
energy res

5 ATIFA AOIT ch/,} |
(b) How is coal tar formeda o

<,

i%r
Write the differences b:twem\_,
and catalytic cracking -

1 R S SO (P (@ wiy |
B

r the manufacture

(c)

utes fo
ntion two 1o
ol 3 ene petrochem1ca1

of IS%];I'C e 1 4
oo GrEd T
Contd.
43
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= #ﬁ_ﬁ_i
|

e i

and additives ? |
T o (c) Write short notes on the following :
ISR 75 =l o | Al 2+3=5
() Defi : ; RaS e
ine ultimate analysis of i . 3 GBIl =l ¢ g .
s e Awoq 4 fovat | - 4 (i) Coal gas
3. Ans ' el (1R \©
Wer any two of the followi _ . .'
ng questions : (ii) - Water gas
- _5X2:.—_ | @T—;ﬁﬂ (13
were gl Rz . Buind 10 | .
: I8 ' (d) Classify petroleum according to the
types of hydrocarbon. ‘
& 2R T TIIRE 97RO fofe o8

coiGeraEE e <+

(e) Whatis hydrogenation cracking ? What

are the catalysts used for catalytic

hydrogenation process? 2+3=5
(B) " What isicoal'? Discuas 1y | % G (AR [ bR R G
. Kt
S briefly about the .= i‘)‘lﬂ‘il%?ﬁ e 49 277

Compositions and Y
oal.
(f) Write shortly on aromatic

T 52 T st |
s NlIss | )
5L PGt 9 | ffen AP Coims : petrochemlcals.
e (iERRIETe AR @9Te SIS ol |
BO4FC 0131 )
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A
nSVf.er any three O
queSthnS:

T 7 et 961 3 1 o

10x3=30

o
o

(@). Class;j
assify- Petrochemicalg th Yhen

"'--__, VJ’.;'-i:e

(c)

E.r‘:: hi i
!.___ @-.{:l}\orOhYdrln prO

com 1ti

prepp;rs;{ons. Describe the method of
on of propylene oxide by

cess, - 5+5=10

m At ;
199 it
al
FeR @it Al @W%w
What i : ; |
differ IS biomass? Briefly dj
ent types of biomass’ 1scuss

TR e [y 4+6=10
S 5= WWW GWW
(@) () '

46

f the following

(e)

——
B
Vs ‘%_,?).:\ 00”898

EUV - .\l'»"“l: G

is burnt in &
.. The increasec in
CaCly is
weight of

2.1g of coal
combustion tu
weight of anhydrous
0.53 g and increase in
KOH tube is 5.739

C, 5, N S SeAgfes 1ol il
oo oAt A e 8
2.1g@ﬁaﬁaﬁwmwi’mwﬁ
CaCly-3 e o9 0.539 sl KOH
2 9o ©1 24 5.73g!

diesel ? How is biodiesel
Discuss. - Write the
_3+3+4=10

What is bio
produced ?
advantages of biodiesel.

A e e W @S d¥e I W?
et 9 | R FerereT IS FARYIER i |
al distillation ? Discuss

le of fractional

the process - of
2+3+5=10

What is fraction
priefly the princip

distillation. Explain
fractional distillation.

S NGEd W%?Wqﬂm@ﬁm@mﬂ

47 Contd.
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(99 How is viscosity of lubricant
- measured ? Discuss the importance
of animal oil and vegetable oils.

5+5=10
TS (o el @ e = =
ST O Tfees (eoem Rara i < |

(h) Mention the effect of pressure and
temperature on carbonization of coal
tar. Write the negative impacts of
burning fossil fuels. 5+5=10

500
i iy




